dN/dx,

Ratio to SLD

Rivet 3.1.10, = 3.2M events

91 GeV ee vy*/Z (Hadronic)

= | ' | | ' | ' | ' | ' | ' | ' | ' F

B Tt multiplicity (re) i

30 | = s ]
- —A— Pythia 6.428 370 —

~ ---&-- Pythia 6.428 371 N

[ - ¥-- Pythia 6.428 372 |
o5 | - Pythia 6.428 376 _
20 — —]
e s ’

L & |

A5 J—rmrm e e W ]
10 — —]
: | | | | | | | | | |:

- ' ' ' ' ! ' ' ' ' =

2 -
. At nooeenooeenoooesoooessooaeooo a
L= S e -
0.5 _|
L L L L . l . L L L L l

0 0.5 1

X

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


